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1(a) {AIFERRBUER ? (10%) -
(b) Legenre Polynomials, P,(x)=(3x>~1)/2, P,(x)=(5x"-3x)/2

REHH P, () B2 Py (x) RIER (10%)

l,if|x|<1

_ ' SKIEEBEEZ Fourier Integral (10%)
0,if x| >1

2(a) BB (x)={

sin

(ORI 2@ZAERR [ dw ZHAME (10%)

w

3. Reduce to Bessel’s equation and find the general solution
@ x*y"+xy'+(Ax* -v?)y =0, hint (Jx = z) (10%)

() x2ysxy+(x’ —%)y=o (10%)

4. RG> AR ER
(@ Y'+y+y=sin(x) (10%)
(b) y'=2sec(2y) (10%) »

5. Green’s theorem in the plane j _[ Ve Fdxdy = iﬁ’ * ids
R

A £JV2wdxdy = {% ds (20%)



